1.4B Working with Radicals Handout
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| Answers
1.a) \-';12 + ._.':27 3.a) 3 b) \,_5 c) \—}_ ¢ £
b) /20 + /45 : .- S T
0 /18 — 8 9L o 22 i $ s
a) /50 + /98 — |2 2 243 I
e) 75 + /48 + 27 Y By S g T 2 Sl
054+ 24 + /72 - [32 V8 V3 S T
9 /28 — 27+ /63 +300 O g 1L g 240 N
410 23 5,2 $ oy
a) /2(/10 + 4) =
b /3(/6 - 1) 2 — b) —— e |3
9 /6(/2 + /6) 2+2 h-l FS
@ 2,2(3/6 -3 g 2 92 .
e /2(/3+4) 6-3 6+3 ot
0 3/2(2/6 +/10) o) ——— p -5 _ C.
o (/5 + /6)(/5 +3/6) D=2 3+12 e
w (2/3-1)(3/3+2) g 20 wAE—t e
) (47 -3/2)(2)7 +5,2) 26 +1 erl 8 nh
) (3/3+1)° et p T e
o2z - 5) J6—J10 3725 B %
] [2 + ,-'B)I(Z —I¢'3) .- .2 16 + J54 b) 32 A4 3,.'31 =
m (6 - 2)[5 y 2) ,. 92(32) +5(108) 4 54 +5(716) g
n) (2-.-"? + 3»"5)(2\-"7 - 3»"5) e) /16 — 54 n.108 — .32 :Z
9 2(/40) - 5 w5(7a8) - 2(J162) =%
5
13. Measurement Write and simplify an expression foi 8l
the area of the square. i tE. s ELNH
&%
14. Measurement Express the volume of the s , : s
rectangular prism in simplest radical form. NN -

¥ — : f-" - ’5\2 + 2\.'3
v15=-+42
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